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10 — plot(d(2:end) /2, C. /C0) :

capdoublesquare.m Cdm testm +
1 function C=capdoublesquare(a, d, i)
2— | nlesqrt(i):
3- b=a/nl;
4= el=le-9;
5— | E=1/36/pikel;
6— eros(1,nl);
7- eros (1,n1)
8~ [lfor i=l:nl
9-— for r
10 —
N 7i£
12 - v (k) =2%(j-1/2) %b-a;
13— end >
u- fend 2
15 — 1tt=zeros (N, N);
16 — ltb=zeros(N,N):
17— [for m=l:N <
18 — for n=1:N
18 — if m==
20 — 1tt (m, n)=24b/p1/EX0. 8814;
21 - 1tb (m, n) =b/2/E# (sart (4/pi+ (d/b) "2)~d/b);
22 - else
23 - 1tt (m, n)=b"2/pi/E/sart ((x(m)=x () "2+ (y () =y () "2); &=
24— 1tb(m, n)=b’2/pi/E/sart ((x(m)-x (M) "2+ (y (m) -y (n)) "2+d"2):
25— end
26 — end
27— |end
28— | Ll=ltt-1tb:
29— | L2=inv(LD);
30— | Lsum=sum(sum(12));
31— C=dwb 2#Lsum;
| capdoublesquarem | C_d.m | testm |+ |
1-— C=zeros(1, 20) ; o
2 — CO=zeros(1, 20) ; 7‘].{
Bl E=8. 85418782e-12;

N

4—  d=(0:0.05:1). "2%2; }?,
5— for 1=1:20
6 — C (i) =capdoublesquare (1, d(i+1), 2500) ; ~
7= CO(1)=4+E/d (i+1) ; /PQ
8 — end
9 — plot(d(2:end)/2,0);
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